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Occasionally, DX stations may ask you to pass a third-paggsage to a friend or relative in
the States. This is all right as long as the US has samefficial third-party traffic
agreement with that particular country, or the third partylisensed amateur. The traffic
must be noncommercial and of a personal, unimportant nature. Ruriexgpergency, the US
State Department will often work out a special temporgrgement with the country
involved. But in normal times, never handle traffic withargtfmaking sure it is legally
permitted.

) = » 7 2/ 11 >

V2 Antigua/Barbud 6Y Jamaic

LO-LW  Argentine JY Jordal

VK Australie EL Liberia

V3 Belize V7 Marshall Island

CF Bolivia XA-XI Mexicc

E7 Bosnie-Herzegovin V6 Micronesia, Federated States

PF-PY  Brazil of

VE. VO YN Nicaragui

vy ~ Canada HO-HP  Panam

CA-CE Chile ZP Paragua

HJ-HK Colombie OA-OC  Per

D6 Comoros (Federal Islamic DU-DZ  Philippine:
Republic of VR6 Pitcairn Island

TI, TE  CostaRic \VZ! St. Kitts/Nevi

CM, CC  Cube J€ St. Lucie

HI Dominican Republi St. Vincent and the

J7 Dominice J8 Grenadine

HC-HD  Ecuado oL Sierra Leon

YS El Salvado ZR-ZU South Africe

C5 Gambia, Th 3DA Swazilant

9G Ghan:i 9Y-9Z7 Trinidad/Tobag

J¢ Grenad TA-TC  Turkey

TG Guatemal GB United Kingdon

8R Guyani CV-CX  Uruguay

HH Haiti YV-YY  Venezuel

HQ-HR  Hondura 4U1ITU  ITU - Genevi

4X, 42 Israe 4U1VIC VIC - Vienne
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